
SATS 1286.2011

Annex C

Local Content Declaration - Summary Schedule 

(C1) Tender No. LP0083SM

(C2) Tender description: MV/LV Feerline Construction

(C3) Designated product(s): Powerline Hardware

(C4) Tender Authority: Eskom Holdings SOC  Ltd

(C5) Tendering Entity name:

(C6) Tender Exchange Rate: Pula EU GBP

(C7) Specified local content %: 100%

Calculation of local content Tender  summary

Tender item 

no's

Tender price 

- each 

(excl VAT)

Exempted 

imported 

value

Tender value  

net of 

exempted 

imported  

content

Imported 

value
Local value

Local 

content % 

(per item)

Tender 

Qty

Total tender 

value

Total exempted 

imported content

Total Imported 

content

(C8) (C11) (C12) (C13) (C14) (C15) (C16) (C17) (C18) (C19)
R206.38 R 0.00 R 206.38 R 0.00 R206.38 100% R206.38 R  0 R  0

R2.83 R 0.00 R 2.83 R 0.00 R2.83 100% R2.83 R  0 R  0

R56.95 R 0.00 R 56.95 R 0.00 R56.95 100% R56.95 R  0 R  0

R37.35 R 0.00 R 37.35 R 0.00 R37.35 100% R37.35 R  0 R  0

R1.17 R 0.00 R 1.17 R 0.00 R1.17 100% R1.17 R  0 R  0

R2.36 R 0.00 R 2.36 R 0.00 R2.36 100% R2.36 R  0 R  0

R1.15 R 0.00 R 1.15 R 0.00 R1.15 100% R1.15 R  0 R  0

R50.70 R 0.00 R 50.70 R 0.00 R50.70 100% R50.70 R  0 R  0

R48.10 R 0.00 R 48.10 R 0.00 R48.10 100% R48.10 R  0 R  0

R1.36 R 0.00 R 1.36 R 0.00 R1.36 100% R1.36 R  0 R  0

R2.87 R 0.00 R 2.87 R 0.00 R2.87 100% R2.87 R  0 R  0

R50.70 R 0.00 R 50.70 R 0.00 R50.70 100% R50.70 R  0 R  0

R1.09 R 0.00 R 1.09 R 0.00 R1.09 100% R1.09 R  0 R  0

R39.29 R 0.00 R 39.29 R 0.00 R39.29 100% R39.29 R  0 R  0

R35.66 R 0.00 R 35.66 R 0.00 R35.66 100% R35.66 R  0 R  0

R0.70 R 0.00 R 0.70 R 0.00 R0.70 100% R0.70 R  0 R  0

R13.64 R 0.00 R 13.64 R 0.00 R13.64 100% R13.64 R  0 R  0

R16.85 R 0.00 R 16.85 R 0.00 R16.85 100% R16.85 R  0 R  0

R0.00 R 0.00 R 0.00 R 0.00 R0.00 100% R0.00 R  0 R  0

R73.01 R 0.00 R 73.01 R 0.00 R73.01 100% R73.01 R  0 R  0

R110.34 R 0.00 R 110.34 R 0.00 R110.34 100% R110.34 R  0 R  0

R10.19 R 0.00 R 10.19 R 0.00 R10.19 100% R10.19 R  0 R  0

R17.82 R 0.00 R 17.82 R 0.00 R17.82 100% R17.82 R  0 R  0

R41.70 R 0.00 R 41.70 R 0.00 R41.70 100% R41.70 R  0 R  0

R65.09 R 0.00 R 65.09 R 0.00 R65.09 100% R65.09 R  0 R  0

R3.19 R 0.00 R 3.19 R 0.00 R3.19 100% R3.19 R  0 R  0

R45.85 R 0.00 R 45.85 R 0.00 R45.85 100% R45.85 R  0 R  0

R0.00 R 0.00 R 0.00 R 0.00 R0.00 100% R0.00 R  0 R  0

R30.58 R 0.00 R 30.58 R 0.00 R30.58 100% R30.58 R  0 R  0

R450.23 R 0.00 R 450.23 R 0.00 R450.23 100% R450.23 R  0 R  0

R100.50 R 0.00 R 100.50 R 0.00 R100.50 100% R100.50 R  0 R  0

R1.92 R 0.00 R 1.92 R 0.00 R1.92 100% R1.92 R  0 R  0

R43.62 R 0.00 R 43.62 R 0.00 R43.62 100% R43.62 R  0 R  0

R2.30 R 0.00 R 2.30 R 0.00 R2.30 100% R2.30 R  0 R  0

R339.99 R 0.00 R 339.99 R 0.00 R339.99 100% R339.99 R  0 R  0

R28.76 R 0.00 R 28.76 R 0.00 R28.76 100% R28.76 R  0 R  0

R17.90 R 0.00 R 17.90 R 0.00 R17.90 100% R17.90 R  0 R  0

R20.55 R 0.00 R 20.55 R 0.00 R20.55 100% R20.55 R  0 R  0

R38.75 R 0.00 R 38.75 R 0.00 R38.75 100% R38.75 R  0 R  0

R32.86 R 0.00 R 32.86 R 0.00 R32.86 100% R32.86 R  0 R  0

R31.97 R 0.00 R 31.97 R 0.00 R31.97 100% R31.97 R  0 R  0

R31.16 R 0.00 R 31.16 R 0.00 R31.16 100% R31.16 R  0 R  0

R151.57 R 0.00 R 151.57 R 0.00 R151.57 100% R151.57 R  0 R  0

R37.48 R 0.00 R 37.48 R 0.00 R37.48 100% R37.48 R  0 R  0

R41.20 R 0.00 R 41.20 R 0.00 R41.20 100% R41.20 R  0 R  0

R85.42 R 0.00 R 85.42 R 0.00 R85.42 100% R85.42 R  0 R  0

R201.58 R 0.00 R 201.58 R 0.00 R201.58 100% R201.58 R  0 R  0

R11.41 R 0.00 R 11.41 R 0.00 R11.41 100% R11.41 R  0 R  0

R11.23 R 0.00 R 11.23 R 0.00 R11.23 100% R11.23 R  0 R  0INSUL-STRAIN-STAY MV PORCELAIN     D3144

BRACKET, POLE TOP 302 x 60x 110mm ARM D3046

Note: VAT to be excluded from all 

calculations

List of items

(C9)
ANCHOR ASSY,ST SOIL 380x220x70     D3035

BRACKET, TYPE F METER BOX 2400mm LONG D3022

BRACKET-STRUT 10X60X720            D3109

BRACKET-STRUT SWIVEL WOOD POLE     D3150

BUCKLE,STRAP 12 C254               D3110

BOLT,ASSY:M12;HEX;GR 4.8;STL;1 D3082

BOLT,EYE GALV M20X254MM

BOLT,PIGTAIL ASSY M16X380mm        D3003

BRACKET, EQUIP. PLATFORM 620mm ANGLE IRON D3023

BRACKET-EQUIP.PLATFORM 900mm ANGLE D3023

BRACKET, LV FUSE HOLDER 40X8X505 D3182

CABLE END, 4-25mm SQ 4 CORE D3148

CABLE GLAND ADJUST NO.1  D3070 also recloser

CABLE TIE-STRAP 280LGX9-0W UV ST.  D3075

CLAMP,EARTH ROD 16 RODPH/BRNZ      D3093

CLAMP,IPC BIMET   35-95B/35-95I    D3039

CLAMP, IPC BN-SERV 35-95R BARE / 6-35T INS D3039

CLAMP,REV PIST 3B 5.0-16.0 ST/WIRE D7022

CLAMP-P/G 2B AL-AL 4 -15 DIA M+T   D3058

CLAMP-STRAIN O/H CONC  4/10MM2     D3067

CLAMP-SUSP ABC 35-50SQ BARE NEUT   D3061

CLAMP-THIMBLE CLEV A/ALLOY 40KN    D3007

CLAMP,IPC BIMET 35-95R / 6-25T D3039

DEAD END,HELICALLY FORMED FOX/35   D3065

DISCONNECTOR 1PHASE 22kV 400A D3087 also CTVT &recloser

EARTH ROD Cu 1500x16D THREADLESS   D3091

END CAP-CABLE 35-70MM2 ABC         D3079

CLIP-BONDING ST GALV 22D HOLE      D3033

COACH SCREW-GALV  75X12MM HEX HD   D3090

COND,CU BARE STR  7/1.72 AN 16SQ   D3139

FUSE-LINK 10K OUTDOOR CUT-OUT D3199

FUSE HOLDER, 1000V 160A DIN TYPE D3182

FUSEHOLDER 22kV 100A FUSE-CUT/OUT  D3086

FUSE, 160A 500V 120KA SIZE  D3181

FUSE, 80A 500V 120KA D3181

GRIP,STRAIN O/H 35SQ B/NTRL ABC    D3060

GRIP,STRAIN O/H 70SQ B/NTRL ABC    D3060

GUY GRIP,DBL  WRAP MAKE OFF 7/4.00 D7047

GUYGRIP-D/END ST COND.3/3.35       D3069

GUYGRIP,D/END ST COND 7/4.0        D3069

INSUL,L/ROD 22kV 40kN 450C/L 20C   D3042

BRACKET,L FUSE-CUT/OUT 22kV WDXARM D3086

FERRULE,TINNED CU SEALING 12MM LG D3196

FERRULE-CRIMP CU  70-0SQ NON-BUTT  D3076

FUSE-CUT/OUT BASE 22KV INLAND D3086

INSUL-STRAIN-STAY LV PORCELAIN     D3144

INSUL,LINE POST 22kV 10kN  31      D3017



R10.41 R 0.00 R 10.41 R 0.00 R10.41 100% R10.41 R  0 R  0

R1.77 R 0.00 R 1.77 R 0.00 R1.77 100% R1.77 R  0 R  0

R45.22 R 0.00 R 45.22 R 0.00 R45.22 100% R45.22 R  0 R  0

R33.19 R 0.00 R 33.19 R 0.00 R33.19 100% R33.19 R  0 R  0

R34.96 R 0.00 R 34.96 R 0.00 R34.96 100% R34.96 R  0 R  0

R18.50 R 0.00 R 18.50 R 0.00 R18.50 100% R18.50 R  0 R  0

R19.20 R 0.00 R 19.20 R 0.00 R19.20 100% R19.20 R  0 R  0

R12.78 R 0.00 R 12.78 R 0.00 R12.78 100% R12.78 R  0 R  0

R22.89 R 0.00 R 22.89 R 0.00 R22.89 100% R22.89 R  0 R  0

R39.09 R 0.00 R 39.09 R 0.00 R39.09 100% R39.09 R  0 R  0

R26.09 R 0.00 R 26.09 R 0.00 R26.09 100% R26.09 R  0 R  0

R0.00 R 0.00 R 0.00 R 0.00 R0.00 100% R0.00 R  0 R  0

R94.13 R 0.00 R 94.13 R 0.00 R94.13 100% R94.13 R  0 R  0

R350.66 R 0.00 R 350.66 R 0.00 R350.66 100% R350.66 R  0 R  0

R2 911.88 R 0.00 R 2 911.88 R 0.00 R2 911.88 100% R2 911.88 R  0 R  0

R3 309.05 R 0.00 R 3 309.05 R 0.00 R3 309.05 100% R3 309.05 R  0 R  0

R4 790.24 R 0.00 R 4 790.24 R 0.00 R4 790.24 100% R4 790.24 R  0 R  0

R14.33 R 0.00 R 14.33 R 0.00 R14.33 100% R14.33 R  0 R  0

R14.08 R 0.00 R 14.08 R 0.00 R14.08 100% R14.08 R  0 R  0

R50.51 R 0.00 R 50.51 R 0.00 R50.51 100% R50.51 R  0 R  0

R86.09 R 0.00 R 86.09 R 0.00 R86.09 100% R86.09 R  0 R  0

R8.90 R 0.00 R 8.90 R 0.00 R8.90 100% R8.90 R  0 R  0

R37.36 R 0.00 R 37.36 R 0.00 R37.36 100% R37.36 R  0 R  0

R13.21 R 0.00 R 13.21 R 0.00 R13.21 100% R13.21 R  0 R  0

R51.53 R 0.00 R 51.53 R 0.00 R51.53 100% R51.53 R  0 R  0

R923.52 R 0.00 R 923.52 R 0.00 R923.52 100% R923.52 R  0 R  0

R47.98 R 0.00 R 47.98 R 0.00 R47.98 100% R47.98 R  0 R  0

R89.98 R 0.00 R 89.98 R 0.00 R89.98 100% R89.98 R  0 R  0

R78.30 R 0.00 R 78.30 R 0.00 R78.30 100% R78.30 R  0 R  0

R165.17 R 0.00 R 165.17 R 0.00 R165.17 100% R165.17 R  0 R  0

R115.30 R 0.00 R 115.30 R 0.00 R115.30 100% R115.30 R  0 R  0

R54.90 R 0.00 R 54.90 R 0.00 R54.90 100% R54.90 R  0 R  0

R159.81 R 0.00 R 159.81 R 0.00 R159.81 100% R159.81 R  0 R  0

R16.99 R 0.00 R 16.99 R 0.00 R16.99 100% R16.99 R  0 R  0

R24.26 R 0.00 R 24.26 R 0.00 R24.26 100% R24.26 R  0 R  0

R9.33 R 0.00 R 9.33 R 0.00 R9.33 100% R9.33 R  0 R  0

R26.94 R 0.00 R 26.94 R 0.00 R26.94 100% R26.94 R  0 R  0

R36.21 R 0.00 R 36.21 R 0.00 R36.21 100% R36.21 R  0 R  0

R6.66 R 0.00 R 6.66 R 0.00 R6.66 100% R6.66 R  0 R  0

R0.55 R 0.00 R 0.55 R 0.00 R0.55 100% R0.55 R  0 R  0

R400.48 R 0.00 R 400.48 R 0.00 R400.48 100% R400.48 R  0 R  0

R22.71 R 0.00 R 22.71 R 0.00 R22.71 100% R22.71 R  0 R  0

R14.03 R 0.00 R 14.03 R 0.00 R14.03 100% R14.03 R  0 R  0

 (C20)   Total tender  value R  16 836

Signature of tenderer from Annex B (C21)  Total Exempt imported content R  0

(C22) Total Tender value net of exempt imported content R  16 836

(C23) Total Imported content R  0

(C24)  Total local content R  16 836

Date: (C25) Average local content % of tender 100.00%

LUG,CRIMP CU   16,0SQX12,0 F/H YCA16M132 D3102

LUG,AL 6.3- 9.0DIA 1B M12 0DEG I/C D3074

LINE TAP,BR TIN COND 4x16SQ        D3101

JOINT,NON-TEN AL  4-3-9.0 D I/C    D3098

PIPE,LDPE TYPE 1 CLS 3 61.8ID 68OD D3127

PIPE,LDPE TYPE 1 CLS 3 10ID 13.20D D3127

PIN-INSUL M20X2-5-6G  250 SHANK    D3050 

NUT-EYE  70KN M20X2-5-6H BOLT      D3004

NUT,EYE  40kN M16X2,0-6H BOLT      D3004

NAIL-CLOUT 40MM GALV               D3169

PLATE-STAY FOR 2000xM20 STAY ROD   D3012

PLATE,STAY M12 300x300x6 55x14 SLT D3172

PLATE BLANK ALUM POLE MK 25x10mm D3049

PIPE-HDPE TYPE 4 CLS 10 20ID 25OD 2.5m D3127

WIRE STRAND-ST  7X4-00 1100MPA100M D3124

WIRE,CU 16SQ 7/1.79 STR PVC BLK    D3137

WIRE,BARBED GALV 12SWG  12.5kg     D3170

PLATFORM,REGUL H-POLE 2600mm  LG.  D3016

PLATFORM,REGUL H-POLE 3000mm LG.   D3016

ROD,THREADED GALV M20X450 WASH+NUTSD3015

ROD-THREADED GALV M20X350 WASH+NUT D3015

PLATFORM, EQUIP H-POLE 2.6m LONG D3020

STRAPPING, ALMIN 7,6x1.3  (5m=ea) D3130

ROD, THREADED GALV. M20 x 600mm WASH+NUTS D3015

SADDLE-CABLE NYLON 9-5ID BI-PIN D3111

SET SCREW-HX GALV M12X40 NUT+WASH D3082

SHACKLE-D STRAIGHT H/BACK PIN 70KN D3010

SUPPORT CRADLE-VOLT REG x1POLE MNT.D3220

THIMBLE-ST TO FIT 16mm  WIRE       D3026

STAPLE-GALV WIRE 40MM LG X 4MM W   D3129

STAY BRACKET LIGHT DUTY 45 DEG     D3032

STAYROD 1500XM12 NON-ADJUST        D3011

STAYROD 2000xM20 96kN NON-ADJUST   D3012

SIGN-DANGER 150X150X0.5 ELEC SHOCK D3202

SPINDLE LONG M20x300 REGULAR D3050

TIE,SIDE GRVE B/FOX       INLAND   D3080

TIE,TOP GRVE B/FOX INLAND          D3081

WIRE STRAND,ST  3x3.35 1100MPA1500mD3125

WIRE, METER SEALING  S/ST 3132

STRAP-TIE ST GALV 910X50X6        D3031

STRAPPING,S/ST 12.0x0.75 304       D3131

TAP CONN,TOFF FOX/35-SQRLACAC  I/C

TAP CONN,TOFF SQR/ACA-SQR/ACA I/C  D3153


